Name: K 4
September 8, 2016
MAC 2313.6717
Cyr

Quiz 2
You must show all work to receive full credit!!

Problem 1. (4 points) Find a vector equation for the line segment from the point
(—3,1,0) to the point (—1,5,6).

Divechon veeher U= <-1,5,6>- <=3,1,0> = < 2,4, 6>

“5

(£) = $b+£$ﬁ (-3, Lo>+ t<La, 40>

= t:i-%sraa—_._, |+ HE Gt> 0zt 4l

Problem 2. (5-peints) (6 points) Consider the quadric surface given by the equation

y=2°+z°.

(a) Identify the type of (two-dimensional) curve given by the traces z = 0,z = 0, and
y = 1.

(b) Use the information from part (a) to classify the surface.

(c) Sketch a graph of the surface.

Cil) X =0 L(j = E’l Pﬁf&‘nc}iﬁ. (Cj}
Z =0 :‘1 = ‘X'l ?&rabﬂ{ﬁ
4= 2= cieele / d
ib) EHI&FHL }Uﬂ‘r"ﬂullbﬂlﬂio( f"f

LCE,MMJ AX LS (ﬁ*fh‘;{{j;‘)




